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BAHRIA COLLEGE ISLAMABAD (UPPER PRIMARY SECTION)
Worksheet: English Literature
Class -V

NAME: SEC:

Topic: Five Bells (Course book Unit 2)

Note: Read the unit thoroughly, underline difficuit words and leamn their
spellings.

Q1. Find the meanings of the given words and construct sentences of the
same.

i) expensive:

Meaning:

Sentence:

ii) perhaps
Meaning:

Sentence:

ili) assistant:

Meaning:

Sentence:

iv) present:
Meaning:

Sentence:

v) cheerup:
Meaning:

Sentence:

Q.2 Fillin the blanks.
i) Ryan was at the dining table holding

i) Everyone wanted to buy Ryan a present because

i) Pepita was Ryan's

iv) The sports goods shop had doors.

v) Ryan's bicycle bell was




Q3. Answerthe following questions.
iy How did Ryan's mother sense that something was wrong?

iy What was the main reason for the family missing one another at the store?

i) What did Pepita think about Ryan inthe end?

iv) What does the story tell you about the David family?




Wi

Tenses
Key for past tense

Helplng verbs Forms of verbs
did {negatives and questions) secondform in positivesfirstin negatives
and guestions
2 washwere First formywith ing (present pariciple form)
2. had third form of the verb
4. hadbeen first form with ing (present paricipie form)

Key for present tense

Helping verbs Forms of verbs
1. do/does first formof the verb
2 |sfamifare first form with ing (present participle form)
2 has/have third form of the verb
4. have been/has bean first form with ing (present participle form)

Key for future tense

Helping verbs Forms of verbs
1. willfshall first form of the verb
2 will be/shall be first form with ing (present participle form)
3. will havelshall have third form of theverb
4 will have beenf/shall have beean first form with ing (presant pariciple form)

PRACTICE

Q: Do as directed.

Sadia went to buy new books. (make negative)

The kind lady feeds the birds. (past perfect continuous tense)

Is Umer arranging a birthday party at his place? (future continuous tense)

The Tootball team will not play match. (make present perfect tense)

| got a computer from my parents on my birthday (make simple future tense)

Did the horse jump over the fence?{make present continuous tense)




Q:Fill in the correct tense.

LOVE FOR TRAINS

Herbie loves trains! He first (see) a train when he
was five years old and he (be) absolutely
fascinated. He (go) to a different train station every
week and (write) down the engine number of every
train he sees. He (do) this since he was seven.
By the time he left school he (collect) over 5000
different engine numbers from all over the world. Al one time. while he

(stand) at a station he (see)
something very strange. He (wait) for a train for an
hour when he suddenly isee) an old steam
locomotive coming down the tracks. It (not stop) at
the station and when it (pass) Herbie saw that all
the passengers {wear) old-fashioned clothes. He
fold the station manager about this, but the manager said that no steam
locomotive (pass) through the station for years,
and that the last one (crash), Killing everyone on

board.
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(1)
BAHRIA COLLEGE ISLAMABAD (UPPER PRIMARY SECTION)
CLASS: V
WORKSHEET # 1: Perimeter and Area (Pg154-167)
NAME: SECTION: ROLL.NO.:

Definition# 1

Perimeter:

Perimeter is the path surrounding a closed figure. It is the sum of all the sides of a
two dimensional shape. It is measured in a single unit (i.e. cm, m, Km etc.)

Perimeter of a square= 4 x length of one side
Perimeter of a rectangle = 2 x (length + breadth)

Example 1: Find the perimeter of a square with side=15m

Solution:

Data

Length of one side = 15 m

Perimeter=? 15m
Perimeter of a square= 4 x length of one side

=4x15m

=60 m Ans.

Example 2: Find the perimeter of a rectangle with Length = 14 cm, Breadth=9 cm

Solution:
Data Scm
Length =14 cm
Breadth =9 cm 14 cm

Perimeter=?

Perimeter of a rectangle = 2 x (length + breadth)
=2x(14 cm+9 cm)
=2x23cm

= 46 cm Ans.



(2)
Definition #2

Area:

The amount of surface a shape covers is called its area. It is measured in
squared units (i.e. cm’, m’, Km’ etc.)

Area of a square= length x breadth
Area of a square=Ixb

Area of a rectangle = length x breadth
Area of a rectangle=[x b

Example 3: Find the area of a square with side =45 cm

Solution:
Data

Length =45cm

Breadth = 45 cm 45 cm

Area=?

Area of a square= length x breadth
=45 cm x 45 cm
= 2,025 cm” Ans.,

Example 4: Find the area of a rectangle with Length = 36 m, Breadth= 14 m

Solution:
Data 14 m
Length=36m
Breadth=14m 36cm
Area =?

Area of a rectangle = length x breadth
=36mx14m

=504 m® Ans.



(3)

Q.1 Find the perimeter of a square with side =38 m

Q.2 Find the perimeter of a rectangle with Length = 28 cm, Breadth= 17cm




(4)

Q.3 Find the perimeter of a square with side =76 m

Q.4 Find the area of a rectangle with Length = 43 cm, Breadth= 29cm




(5)
Q.5 Fill in the blanks

i. The sum of all the sides of a two dimensional shape is called its ;

ii. Perimeter of a square =

iii. If the sides of a rectangle are 2 cm and 5 cm, then its perimeter will be

iv. If a side of a square is 6 cm, then its perimeter will be

v. Perimeter of a = 2 ¥ (length + breadth).

vi. The amount of surface a shape covers is called its

vii. Area of a rectangle =

viii. If the sides of a rectangle are 5 cm and 3 cm, then its area will be .

ix. If side of a square is 4 cm, then its area will be

X. Area is measured in units.

Q.6 Match the Columns

Column A Column B
1. Area of a square P em
2. Perimeter of a rectangle ___length x breadth
3. Area of a square with side [ cm _ 2x(length + breadth)

Q.7 Write the area and perimeter of the given shapes. Each side of every small square is 1cm.

Area: Area:

Perimeter: Perimeter:

B R R E R R e R e e P R R P S s R R R Rt
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BAHRIA COLLEGE ISLAMABAD (UPPER PRIMARY SECTION)
CLASS: V
WORKSHEET # 2: Perimeter and Area (Pg154-167)
NAME: SECTION: ROLL.NO.:

Definition

Composite figure (or shape)

A figure (or shape) that can be divided into more than one of the basic figures is said to be a
composite figure (or shape).

For example, figure given below is a composite figure as it consists of two basic figures.

That is, a figure is formed by two rectangles as shown below.




(2)
Finding the perimeter of a composite shape

To find the perimeter of the composite shape, we add all the outer sides of the shape.

Example 1 Find the perimeter of the given shape
10em
5 cm
7 em
4 cm
§ om 5em
Solution:

Perimeter of the given shape = Sum of the lengths of outer sides of the shape
=9cm+5cm+4ecm+5cm +10 cm +7 cm
=40 cm Ans

Finding the area of a composite shape

The area of a composite figure is calculated by dividing the composite figure into (two or
more) basic figures and then using the relevant area formula for each basic figure. We find
the total area by adding the area of each small shape.

Example 2 Find the total area of the given shape

7cocm

5cm

9cm



(3)

Solution: Given figure can be divided into two rectangles as shown below.

7ecm Fig.1 Fig.2 4 cm

5 cm

9 cm

Area of Fig.1:
Data
Length =9 cm
Breadth =7 cm
Area of Fig.1 = Length x Breadth
= 9cmx7cm
= 63cm’
Area of Fig.2:
Data
Length =5 cm
Breadth =4 cm
Area of Fig.2 = Length x Breadth
= 3cmx4cm
= 20cm’
Total area of the given shape = Area of Fig.1 + Area of Fig.2
=63cm’ + 20cm’

=83 cm’ Ans.



(4)

Q.1 Find the perimeter of the given shapes

8.5 cm
4.9ocm
6.4 cm
7.5 cm o
Solution:
h} 15cm
37 cm
4 cm

23 cm 9.cm

Solution:




(5)
Q.3 Find the area of the given shape
i)

4.4 cm

1.5 cm

f2cm

9.3 cm

Solution:




(6)
i)

91 cm

72 em

$43 cm

43 cm

Soution:
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BEAHRIA COLLEGE ISLAMABAD (UPPER PRIMARY SECTION)
G.SCIENCE WORKSHEET - CLASS V
UNIT 2.1.2.2-WHY CLASSIFICATION &THE ANIMAL KINGDOM
Q.1) Fill in the blanks.

i. Georges Cuvier was a famous French

ii. The animals are broadly divided into groups.

. Vertebrates are divided into classes and invertebrates into
claszes

. Animals that have a back bone are called and the ones

without a back bone are called

v. The smaller parts within a cell are called

Q.2) Label the parts of the animal cell and write its functions

Functions:

Q.3) Differentiate between warm blooded and cold blooded animals.




BAHRIA COLLEGE ISLAMABAD (UPPER PRIMARY SECTION)

SOCIAL STUDIES WORKSHEET

Class : V Unit:2 Oceans and Seas
Q.1) Name the followings:

[ The largest and deepest ocean of the world:

i The second |largest ocean of the world:

iil. The warmest ocean of the world:

iv. The smallest ocean of the world:
v The ocean that lies at the South Fole

WI. The ocean that borders four continents:

il The sea in which Plants and Animals can not survive:

Vil The sea that is present in the South of Pakistan:

ix. A Greek sailor who explored The Arctic

¥x.  The explorer who discovered America:

Q.2) Define the given terms:

i. Tides

ii. Land locked Sea

lii. lce berg

Q.3}) How much percent of the Earth is covered by water? How much of it is clean and

drinkable?




Q.4) Name two seas of following oceans:

a. Indian Ocean I ii.

b. Arctic Ocean I I

c. Pacific Ocean ' Ii.

d. Atlantic Ocean I i

Q.5 ) Label the oceans in the world map :
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